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1. CpaBHHUTB: 1. CpaBHHUTE:!
1) V50 u 7 2) 7J2 u 57 1) /50 u 7 2) 72 u 57
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1. CpaBHUTE: 1. CpaBHUTE:
1) /50 u 7 2) 72 u 57 1) /50 u 7 2) 72 wu 57
2. Beruncnure: 2. Beruncnnre:
a) /196 —5./3,6 - /0,1 6) 0,512 —2~/27 +/75 a) /196 —5./3,6 - /0.1 6) 0,512 —2/27 +/75
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1. CpaBHUTE:! 1. CpaBHUTS:!
1) /50 u 7 2) 72 u 57 1) /50 u 7 2) 72 wu 57
2. Beraucnure: 2. Beruncnure:
a) V196 —5./3,6 - /0,1  6) 0,512 —2/27 +./75 a) /196 —5./3,6 - /0,1  6)
3. VYOpOCTHTE BBIpasKEHHUE: a) 0,512 — 227 +J/75
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1. CpaBHuUTH: I. CpaBHHUTE:!
1) /50 u 7 2) 7J2 u 57 1) /50 u 7 2)7J2 u 57
2. Beoruucnure: 2. Boruncnure:
a) V196 —5./3,6 -1/0.1  6) 0,512 —2/27 ++/75 a) V196 —5./3,6 -1/0.1  6) 0,512 —2+/27 + /75
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